22 I DE=AW(6) 6 B H

NEDEAVEFVELL S,

@ 3L 8d. — 5dL = L dL
@ 7L 8dL — 7dL = L dL
@ IL 9d. — IdL = L dL
@ 2L 5d. — 2dL = L dL
® 9L 5d. — 5dL = L




22 HITDAN() 62 A H

NEDEAVEFVELL S,

@ 3L 6d. — 3dL = L dL
@ 5L 7dL — ldL = L dL
@ 8L 8dL — 5dL = L dL
@ 4L 7d — 6dL = L dL
® 8L 7dL — 6dL = L dL




22 I DE=AW(6) 63 B H

NEDEAVEFVELL S,

® 3L 9d. - 3d. = L dL
@ 8L 3d. — IdL = L dL
@ 4L 6d. — 3d. = L dL
@ 4L 7d. — 4dL = L dL
® 6L 6d. — 5dL = L dL




22 I DE=AW(6) 64 B H

NEDEAVEFVELL S,

® 4L 3d. - 3dL = L
@ 7L 3dL — 2dL = L dL
@ 2L 9d. — 3d. = L dL
@ 1L 3d. — 2dL = L dL
® 7L 7dL — 7dL = L




22 I DE=AW(6) 65 B H

NEDEAVEFVELL S,

@ 3L 8dL — 2dL = L dL
@ 8L 6d. — ld. = L dL
@ 5L 8dL — 7dL = L dL
@ 3L 8dL — 3dL = L dL
® 6L 3d. — 2d. = L dL




22 I DE=AW(6) 66 B H

NEDEAVEFVELL S,

® 4L 2d. — 2dL = L

@ 7L 3d. — IdL = L dL
@6L 7d - 4d. = L dL
@ 2L 2d. — ldL = L dL
® 6L 2d. — IdL = L dL




22 I DE=AW(6) 67 B H

NEDEAVEFVELL S,

4L 2d. — I1dL = L dL
@ 9L 9d. — 3dL = L dL
@ 2L 2d. - IdL = L dL
@ 3L 9d. — 5dL = L dL
® 9L 9d. — 9gdL = L




22 I DE=AW(6) 68 B H

NEDEAVEFVELL S,

2L 6d. — 2dL = L dL
@ 7L 3d. — 3dL = L
@ 7L 5d. — 2dL = L dL
@ 5L 5d. — 5dL = L
® 9L 4dL — 4dL = L




22 I DE=AW(6) 69 B H

NEDEAVEFVELL S,

O IL 4d. — 1dL = L dL
@ 9L 5d. — 2dL = L dL
@ 3L 9d. - 6d. = L dL
@ 3L 3d. — 3dL = L

® 9L 7dL — 2dL = L dL




22 I DE=AW(6) 70 A H

NEDEAVEFVELL S,

@ 3L 8dL — 2dL = L dL
@ 8L 4d. — 3dL = L dL
@ 4L 2d. — 2dL = L
@ I L 2dL — 2dL = L
® 5L 8d. — 3dL = L dL




22 I DE=AW(6) 71 B H

NEDEAVEFVELL S,

® 2L 8d. — 8dL = L

@ 9L 6d. — 2dL = L dL
@5L 8dL — IdL = L dL
@ 3L 3d. — 2dL = L dL
® 8L 8dL — 5dL = L dL




22 I DE=AW(6) 72 B B

NEDEAVEFVELL S,

® 4L 4d. — 4dL = L
@ 8L 5d. — 3d. = L dL
@ 7L 7d. — ldL = L dL
@ 4L 6d. — 6d. = L
® 8L 5d. — 2dL = L dL




22 I DE=AW(6) 73 A H

NEDEAVEFVELL S,

@ 3L 8dL — IdL = L dL
@ 9L 3d. — IdL = L dL
@ 2L 7dL — 2dL = L dL
@ 2L 9d. — 9dL = L
® 7L 2dL — 2dL = L




22 I DE=AW(6) T4 B H

NEDEAVEFVELL S,

O IL 2d0 — 2d. = L
@ 5L 2d. — 2dL = L
@ 3L 4d. — 1d. = L dL
@ 2L 9d. — IdL = L dL
® 9L 3d. — 2d. = L dL




22 I DE=AW(6) 75 A H

NEDEAVEFVELL S,

® 2L 7dL — 4d. = L dL
@5L 3d — IdL = L dL
@ 3L 3d. - 3d. = L

@ 4L 5d. — 2dL = L dL
® 6L 8dL — IdL = L dL




22 I DE=AW(6) 76 A H

NEDEAVEFVELL S,

O IL 9d. — 2d. = L dL
@9L 7dL — 7dL = L
@8L 9d. — Id. = L dL
@ 3L 7d. — 7dL = L
® 7L 2d. — ldL = L dL




22 I DE=AW(6) 77 B H

NEDEAVEFVELL S,

® 2L 2d. — 2d. = L
@ 9L 5d. — 5dL = L
@ 3L 2d. - 2d. = L
@ 4L 5d. — 2dL = L dL
® 8L 7dL — IdL = L dL




22 I DE=AW(6) 78 A H

NEDEAVEFVELL S,

@ IL 3d — 2dL = L dL
@ 8L 8d. — IdL = L dL
@ 4L 9d. — IdL = L dL
@ I L 2dL — 2dL = L

® 5L 9d. — 3dL = L dL




22 I DE=AW(6) 79 A H

NEDEAVEFVELL S,

O 4L 7d. — 2dL = L dL
@ 6L 8d. — 8dL = L

@9L 6d. — 3d. = L dL
@ 3L 4d. — 3dL = L dL
® 5L 9d. — 7dL = L dL




22 I DE=AW(6) 80 B H

NEDEAVEFVELL S,

O IL 3dt — 3d. = L
@ 5L 4d. — 3dL = L dL
@ 9L 3d. — 3dL = L
@ 1L 3d — 2dL = L dL
® 9L 8d. - 3dL = L dL




22 I DE=AW(6) 8 B H

NEDEAVEFVELL S,

@ IL 7d0 — ldt = L dL
@ 7L 4d. — 4dL = L
@ 4L 6d. — 6d. = L
@ 4L 6d. — 6d. = L
® 6L 8d. — 6d. = L dL




22 HITDAN() 82 A H

NEDEAVEFVELL S,

@ 4L 9d. — 2dL = L dL
@ 7L 5d. — 2dL = L dL
@ IL 9d. — 4dL = L dL
@ 2L 6d. — 6d. = L

® 5L 8dL — 5dL = L dL




22 I DE=AW(6) 83 B H

NEDEAVEFVELL S,

@ IL 5d. — Id. = L dL
@ 7L 7d. — 2dL = L dL
@ 2L 5d. — 3d. = L dL
@ 5L 3d. — 2dL = L dL
® 9L 2d. — 2dL = L




22 I DE=AW(6) 84 B H

NEDEAVEFVELL S,

2L 2dL — IdL = L dL
@ 6L 3d. — 3dL = L

@6L 4d — 1d. = L dL
@ 5L 4d. — |dL = L dL
®5L 9d. — IdL = L dL




22 I DE=AW(6) 85 B H

NEDEAVEFVELL S,

® 4L 9d. — b5d. = L dL
@ 6L 6d. — 2d. = L dL
@ 8L 8d. — 3d. = L dL
@ 4L 5d. — 4d. = L dL
® 7L 2d. — ld. = L dL




22 I DE=AW(6) 86 B H

NEDEAVEFVELL S,

® 3L 3d. — 3d. = L
@ 7L 2d. — IdL = L dL
@ 8L 6d. — 2dL = L dL
@ 2L 4d. — 4dL = L
® 5L 3d. — IdL = L dL




22 I DE=AW(6) 87 B H

NEDEAVEFVELL S,

® 4L 3d. — 3dL = L

@ 6L 9d. — 2dL = L dL
@9L 3d. — 2d. = L dL
@ 1L 8dL — IdL = L dL
® 9L 7d. — 4dL = L dL




22 I DE=AW(6) 88 B H

NEDEAVEFVELL S,

O IL 4d. — 1dL = L dL
@ 6L 8d. — 8dL = L
@ 4L 7dL — 4dL = L dL
@ I L 4dL — IdL = L dL
® 5L 8d. — 8dL = L




22 I DE=AW(6) 89 B H

NEDEAVEFVELL S,

® 4L 3d. — 3dL = L
@ 7L 3d. — 3dL = L
@ 3L 2dL - IdL = L dL
@ I L 4dL — IdL = L dL
® 8L 6d. — 6d. = L




22 I DE=AW(6) 90 B H

NEDEAVEFVELL S,

O IL 3dt — 3d. = L
@ 5L 4d. — 3dL = L dL
@ 6L 6d — 3d. = L dL
@ 4L 7dL — ldL = L dL
® 7L 2dL — 2dL = L




